9mm semi automatic pistol

(Closed bolt striker fired operation)

Professor Parabellum



Receiver

247mm long

Top:

2 inches

8mm

Top slot - 7” long

Print on 8.5x11 US letter paper

28mm

Ejection
port

Right side:

-19mm -

- 55mm -

Left side:

For academic study purposes only

Ejector hole

5mm
{tap for m6 bolt)

185mm

Cocking handle slot - 4” long

8mm

30mm dia mild steel round tube
2mm thick wall



Receiver

(Bottom)
E
E
&
t
o
Q
[++]
= 40mm
N
o
o
)
=
24mm
Ejector
Modify a 1/2” long m6 bolt into a blade profile. Screw
tightly into the ejector hole until aligned with
slot in bolt. Apply loctite to fully secure.
10mm
=
85mm -
2 mlummmlw I 2mm
0
S
o
QO
w
15mm
60mm
2 inches

Print on 8.5x11 US letter paper



Complete upper receiver

Recoil / bolt return spring housing tube

1/2” dia steel tube, 7” long
Cut an 8mm wide slot along bottom to match
receiver top slot. Weld in place.

Weld on two sheet metal tabs, 14mm wide with a 6mm hole

Holes should be spaced 117mm apart.

30mm

2 inches

Print on 8.5x11 US letter paper



Magazine-well (for 9mm STEN magazines)

A 57mm length of 1” x 2” (25mm x 50mm x 2mm wall) steel rectangular tube is modified by removing a single
1” side to enable both 2” sides to be flared out slightly in order to accept a STEN magazine. A section of 1”
steel bar can be hammered down through the opened side to acheive this. The removed side is then welded
back into place forming the correct inner dimensions. Use a STEN magazine for reference throughout.

29mm
Curve top to match receiver profile
43mm Top / bottom
1 ®
Weld in well spaced Back
spots 57mm
® @
25mm
Magazine catch housing
Make using a length of 15mm steel square box section
or bend from sheet.
Top Side
15mm 11mm
Drill hole: 10mm \\ Front
O E
£
&
57Tmm
: .1’ Smm @ | Hole:3mm
45mm
2 inches

Print on 8.5x11 US letter paper



Magazine latch

Assemble from a strip of 6mm (1/4”) thick aluminum or plastic plate + M6 bolt

10mm

Drill with Smm bit
and tap for mé bolt

- .

. s

Spring hole: 8mm O

8mm

38mm

8mm x 15mm compression spring

AN

24mm

emm

Finished:

M6 bolt

File mag contact area
14mm flat

)
=

File to ramp profile

Tightly screw into plate and modify as above
while in place.

'

15mm

2 inches

Print on 8.5x11 US letter paper

- Weld latch housing to mag-well
- Secure latch with M3 bolt + nut

5mm

Drill through both pieces with 10mm bit

/\./'\

—a

@
Latch should contact this point
on a 9mm STEN magazine




Bolt

Turn on a lathe from 1” mild steel round bar

47mm

.625” (15mm)

100mm

Bore a 3mm dia hole through center

Harden bolt face using Kasenit

Striker assembly

Firing pin: 3mm silver steel rod - round off tip

Either weld at rear or retain in a blind hole

120mm

1" mild steel round bar, 15mm long

- Firing pin can be of a larger OD and necked down
through a smaller ID hole in breech face end.



Bolt assembled

47mm long steel plate or 1" dia (5mm wall) steel
tube cut in half and welded in place to reduce
wear on bolt face

/
e R
S—
/

Cut sear relief ramp on underside of bolt

Recoil / return spring contact plate

53mm

13mm

1/4” mild steel plate - weld in place

Front Cocking handle

(8mm steel bar, 45mm long. Tap into a blind hole)

/

° |

Cut a 5mm deep slot on right side of
smaller dia section for ejector



Barrel & collar

1”

STEN feed cone

1”

Cut a feed cone / bevel into the front of chamber using a 16mm+ bit

Striker spring

4 3/4” (120mm) Unmodified purchased compression spring

19mm / 3/14”

1.5mm wire

Recoil / bolt return spring

6”

1.5mm wire

Fabricate a rear plug from a 1/2” length of 1” bar. Retain spring assembly via a 45mm long
M8 bolt + nut inserted through a hole drilled vertically through spring holder, plug and receiver.



Unmodified Tippmann A5 paintball marker
grip & trigger frame assembly

2 inches

Print on 8.5x11 US letter paper



) Gan % ps i [i-_
THE DIY SHEET METAL The Box Tube MAC-11 THE DIY STEN GUN THE KHYBER PASS
SELF-LOADING PISTOL PISTOL

'{_ IT:.—. lJ:'\I ’b‘ /d

The Ultimate DIY Machine Pistol

Al | \ = | | '/-\H‘“—\' =" |
| L ) S SR (T s BT
=y | -
Practical Scrap Metal Small Armn -

Practical Scrap Metal Small Arms Vol Il

Practical Scrap Metal Small Arms Vol.4
Practical Scrap Metal Small Arms Vol.3

Ty Profossor Parabstur

'

The Box Tube MAC-11 THE MAC-10

DIY SHEET METAL 9MM BULLET HOSE
= CONSTRUCTION GUIDE DERRINGERS
Bolt and receiver ’_‘ Practical Scrap Metal Small Arms Vol.6
modifications

HOMEBUILT SUBMACHINE GUN
Practical Scrap Metal Small Arms VOL.7

Practical Scrap Metal Small Arms Vol.5

By Prtsasin P

By Professor Parabelium By Professor Parabellum Practical Scrap Metal Small Arms Vol.8
%
; FHE T‘&BLE LEG = The FSB Badger Gun
- ] (42 Femfce)
e «  TYPEWRITER 4 ©
Home Workshop Machine Pistol

DIY SUBMACHINE GUN CONSTRUCTION GUIDE

THE MEK.II DIY SHEET METAL
SELF-LOADING PISTOL

CONSTRUCTION PLANS

Practical Scrap Metal Small Arms Vol.9

Practical Scrap Motal Small Arms Vol. 10

By Protesac Purssenm




